
1) $181.00 earning 3.8% compound 
interest for 10 years.

Answer: ____________

2) Find area of square 
having each side (s)
equals 98 ft

Answer: ____________

3) Write 0.007 in standard form.

Answer: ____________

4) 62 - (-43)

Answer: ____________

5) Find area of triangle 
s = 62 ft

Answer: ____________

6) 13/7 x 43/4

Answer: ____________

7) 40% of 28

Answer: ____________

8) 25 + (-31)

Answer: ____________

9) 1/20 of 40

Answer: ____________

10) 36/8 x 11/2

Answer: ____________

11) b

a o c
Measure angle boa 

Answer: ____________

12) Find area of triangle
a = 71 in, b = 76 in

Answer: ____________

13) 18/4 + 16/7

Answer: ____________

14) Factorise 2s2 + 9s + 9

Answer: ____________

15) 7/1 - 14/7

Answer: ____________
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16) 14/10 + 12/5

Answer: ____________

17) 14/10 + 12/5

Answer: ____________

18) Round 7.83260 to 3 significant 
figures.

Answer: ____________

19) Round 7.83260 to 3 significant 
figures.

Answer: ____________

20) 8/19 of 38

Answer: ____________

Total: ___ / 20

Copyright 2023 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

April 10, 2023

Sr: 10042023-3060

 

http://www.geekschool.co.uk


Answers:

1) $262.82 2) 9604ft 3) 7 x 10-3 4) 105 5) 1664.5008260737ft 6) 611/14 7) 11.2

8) -6 9) 2 10) 55/8 11) 117 12) 2698in 13) 611/14 14) (1s + 3)(s + 3)

15) 50/1 16) 34/5 17) 34/5 18) 7.83 19) 7.83 20) 16

Copyright 2023 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

April 10, 2023

Sr: 10042023-3060

 

http://www.geekschool.co.uk

